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What is the value of x in the equation [image: image1.png]el
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, what is the value of n?
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What is the solution set of the equation [image: image9.png]
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One root of the equation [image: image14.png]
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Solve for x: [image: image19.png]
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Solve algebraically for x:  [image: image20.png]M=
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Solve for all values of x: [image: image21.png]
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Solve for all values of x that satisfy the equation [image: image22.png]


.

9
Solve for all values of x: [image: image23.png]
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Solve for x and express your answer in simplest radical form: [image: image24.png]
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Solve for all values of x, to the nearest tenth: [image: image25.png]
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Working by herself, Mary requires 16 minutes more than Antoine to solve a mathematics problem.  Working together, Mary and Antoine can solve the problem in 6 minutes.  If this situation is represented by the equation [image: image29.png]


, where t represents the number of minutes Antoine works alone to solve the problem, how many minutes will it take Antoine to solve the problem if he works by himself?

16
A rectangle is said to have a golden ratio when [image: image30.png]==



, where w represents width and h represents height. When [image: image31.png]


, between which two consecutive integers will h lie?

17
Electrical circuits can be connected in series, one after another, or in parallel circuits that branch off a main line.  If circuits are hooked up in parallel, the reciprocal of the total resistance in the series is found by adding the reciprocals of each resistance, as shown in the accompanying diagram.
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, and the total resistance, [image: image36.png]


, is 2.25 ohms, find the positive value of [image: image37.png]


 to the nearest tenth of an ohm.
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